Problems on Random Variables

4/23/12
Problem on discrete RVs: (similar to 2.40, 2.43, and 2.46 in [S3])
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346  Cadculate the expected number of pointsin 3 successive tosses of afair die.
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Let X; be the number of points seen in the ith toss of the die.
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4.68. Hint:

p (AU\C(QM)’/P((A pe o I olive after 30 7Y/)> = =

"\



4.90 P(& Llb A dc,fed‘fve) =003 = b
SGW\P'Q S{"}e - NN =~ 00O l::u»“OS,
Pofssw N N e IV WS np= lao x0-43 = 3

G pol. dror exocrly G g e s bully s defipn

o
,P(X ,O> _e°(—;_ ..e—o(: Q"S:G'quwﬁf
O.

oo o lso
PCK“/a) - (a) 003 o7

4.91 ) Pvol,. & more Ao S bulby defecfive

P(xv;) P(x 7,é> —0-0§341%
= i . = (= P(x¢s)

Pxzo) ¢ oo tPx=S)

V)

493. Hint 3 6.60003 = P(druning)
|gog vo
_ _ 3 = £
N~ 260030 OL pi 'f\lg,_ LE0odO de lesgos

gl | Yed cnd wlile wnartl,,

P( o Ved wnaavble 7 O(Yauv,) z ’lg ~ P

N & drc.»\h'nﬁg ney
P( fed mexble 15 dvosn 3 Fimes) =



’P‘(bsplﬂ.wx \I/ P L{-C(-'L DQ flj Qeovv\?_‘hrk_ Ry

Roall & Aie 0ntl 6 € Comen wP o wohidd trmen.

WNhat M frs  expected st (s

</

cf /
3
PC G S\X ) = P: ¢ { S> P(wq Siw)= %{_F)

S = FEFRS 9'p
FS-g9p s

FES 3% Fs

- [ Peypr Ve o VR



